13 Metering unit chemistry KKRCHER

Professional \ Floor cleaner \ Walk behind \ B 60 W Bp DOSE *EU \ Documentation B 60 W \ Spare parts list B 60 W \ Tank \ Metering unit chemistry

Valid on 15.05.2020 Page1l/3



13 Metering unit chemistry

Professional \ Floor cleaner \ Walk behind \ B 60 W Bp DOSE *EU \ Documentation B 60 W \ Spare parts list B 60 W \ Tank \ Metering unit chemistry

Article no.
4.060-833.0
4.060-866.0
5.731-652.0
6.295-915.0
2.882-684.0
4.039-132.0
6.648-230.0
7.303-095.0
5.032-761.0
5.064-135.0
5.006-796.0
6.652-040.0
6.388-545.0
6.388-715.0
5.035-039.0
6.390-892.0
6.470-202.0
6.648-064.0
6.389-924.0
6.391-341.0
6.429-038.3
7.306-077.0
7.312-002.0
7.311-421.0
5.443-625.0
6.907-203.3
6.388-613.0
5.443-481.0
7.306-242.0
7.312-004.0
7.311-510.0
6.388-628.0
2.882-705.0

Valid on 15.05.2020

Description

Cover cleaning agents

Cover cleaning agents complete
Filter with weight

RM 756** 2,51 Multi Cleaner
Conversion kit pump Chiaphua B 60 W
Sheet metal component tackle complete
Wire protecting sleeve

Screw 4x 12-ST-10.9-R2R (IN6RD)
Elbow connector ball valve

Housing ball valve

Plate left

Resistor water pump 3,9 Ohm BR/BD
Hose clip

Rubber bushing 14

Rubber bushing rubber EPDM

Spiral hose NW12

Dosing pump chemistry

Cable bushing

Hose clip

Hose chemistry DN 6

Flowmetre

Screw M5x16 -8.8-R2R (In6Rd)
Washer 5-200HV-A3E ISO 7089
Hexagon nut M 5-04-A2E DIN 985
Hose dosing pump nur f. Ersatz
Filter fresh water

Hose stem

Angle bushing

Cylinder head screw M8x75-8.8-A2E ISO 4
Washer 8 -200HV-A3E ISO 7089
Hexagon nut M 8-8-A2E ISO 7040
Elbow connector 1/2"

Conversion kit water filter rear

Quantity

1.000
1.000
1.000
1.000
1.000
2.000
1.000
4.000
1.000
1.000
1.000
1.000
2.000
1.000
1.000
1.000
1.000
1.000
2.000
1.000
1.000
3.000
3.000
3.000
1.000
1.000
1.000
1.000
2.000
2.000
2.000
1.000
1.000

Page 2 /3

Unit
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST

ST
ST
ST

ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST

Foot note text
YELLOW
GREY

TO ORDER AS CUT GOODS

TO ORDER AS CUT GOODS

KARCHER



13 Metering unit chemistry

Professional \ Floor cleaner \ Walk behind \ B 60 W Bp DOSE *EU \ Documentation B 60 W \ Spare parts list B 60 W \ Tank \ Metering unit chemistry

KARCHER

POS Article no. Description
40 6.363-600.0 O-Ring seal

41 6.414-985.0 Filter cup

42 6.414-835.0 Filter cartridge

Valid on 15.05.2020

Quantity
1.000

1.000
1.000

Page 3/3

Unit
ST
ST
ST

Foot note text


http://www.tcpdf.org

